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Chapter 6. So let us stop going over the basic teachings about Christ again and again.
Let us go on instead and become mature in our understanding. Surely we don't need to
start again with the fundamental importance of repenting from evil deeds and placing our

faith in God.

NLT
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Verse 2. You don't need further instruction about baptisms, the laying on of hands, the
Verse 3. And so, God willing, we will

move forward to further understanding. Verse 4. For it is impossible to bring back to

resurrection of the dead, and eternal judgment.

repentance those who were once enlightened --
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those who have experienced the good things of heaven and shared in the Holy Spirit,
Verse 5. who have tasted the goodness of the word of God and the power of the age to
come -- Verse 6. and who then turn away from God. It is impossible to bring such people
back to repentance; by rejecting the Son of God, they themselves NLT
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Verse 11. Our great desire is that you will keep on loving others as long as life lasts, in
order to make certain that what you hope for will come true. Verse 12. Then you will not
become spiritually dull and indifferent. Instead, you will follow the example of those who

are going to inherit God's promises because of their faith and endurance.

NLT
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